Rear Bumper BXG.9530]
(INSTALLATION INSTRUCTION)

ATTE“TI““ . Please verify all parts are present and read instructions carefully before starting installation.
Please feel free to contact your distributor if you have any kind of question about your purchase.

<> CONTENTS

[} ﬂJ

-l L
A: Main Body B1&B2: Trailer Plug Brackets C1&C2: Mounting Brackets

I T S T T S ) T

6 | Hex Bolt M12*35 _ 10 Split Lock Washer | D12 O
4 | Hex Bolt M12*30 h 20 | Flat Washer M12*25*2 o

3 | Button Bolt M6*16 — 10 | Hex Nut M12 0

8 | Button Bolt M4*20 — 3 | Nylon Lock Nuts Mé O

To view online instruction, pleasg

@ T“l".s BEQUIBED * scan the QR code.

¢® Drive Ratchet Handle ¢ 10mm, 19mm Wrench

¢® 4mm Hex Bit Socket ¢® 19mm Shallow Socket



https://manuals.plus/m/7ce9d46f6392e5bc2fca6653756372c063f72f2e7d64d1af63f2cee9ddf73314

< INSTALLATION INSTRUCTION

Remove the factory bumper. (Driver Side) Install the mounting brackets. Repeat this
step for the opposite of the vehicle. Do not fully tighten

hardware to allow adjustability.
o (1] Left Mounting Bracket C1 (1) Right Mounting Bracket C2

® (6] M12x35 Hex Bolts ®(6) D12 Lock Washers
®(12) M12x25x2 Flat Washers ®(6) M12 Hex Nuts

Remove and install the factory sensors.
e (4) Sensors
® (8] M4x20 Button Bolts

(Driver Side] Secure the bumper. Repeat this step for the
opposite of the bumper. Tighten all hardware.

o (1) Rear Bumper
® (4) M12x30 Hex Bolts ®(4) D12 Lock Washers

® (8) M12x25x2 Flat Washers ® (4) M12 Hex Nuts

Install the trailer plug bracket to the bumper.
Choose the correct bracket for the 7 way trailer plug. f-Bamd WO

Attach bracket to 7- way connector.

® (3] M6x16 Buttom Bolts e (3) M6 Nylon Lock Nuts

Or [ Sten6
The installation is complete. We hope you enjoy a
wonderful off-road life with this quality Hooke
Road product!

gy
< ®

Pte

- Feel Free To Share Your Vehicle @HookeRoad4x4 ? ! 1
Go gie Hooke Road to find your parts. With The Hashtag #hookeroad If You'd Like ‘ E f F @ dh




